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ENGLISH VERSION

Instruction : All the questions are compulsory.

1 Explain the following in detail :

Y
@)
@)
4)

1 (a)

(b)

(b)

(b)

Point and interval estimator.
Statistics and Parameters.
Standard Deviation and Standard Error.
Null and Alternative Hypothesis.
OR
A random sample of size 60 is taken from the

normal population. If Mean and S.D. of the samples are
145 and 40. Find 95% and 99% confidence interval for
population mean.

In a sample of 700 units 200 units are found
defectives. Find 95% and 99% confidence interval

for the population proportion.

. . . .. 2
Write properties, uses and basic conditions for X
distribution.

Fit Poisson distribution for the data :

x| 0|1 [2([3]4]5
f 12231142 (48 1514 (0

(e—0-69 - 0.5016)

OR
Write notes on :
(1) t distribution
(2) F distribution.
alb
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3 (a)

(b)

3 (a

(b)

4 (2
(b)

Test the hypothesis that, population variances are
equal :

x |8 J1o]a]ro]13] -]~
x [12[15 11|16 |14 146

Test the hypothesis that there is no significant
difference between 2 population proportions.
X . 750 X9 _ 1000
n, 10007 n, 1200°

OR
From the following data test the hypothesis that,
population means are equal.

X |28 30 (3233332934
Xy |29 |30 (30 (24 (27129 -

Test the hypothesis that, population means are equal.

n =150, X, =1400, ;=120
ny =200, X,=1200, S, =80

Explain : Parametric and Non Parametric Test.
Test the hypothesis that there is no significant dif.
in 3 methods by using Kruskal-Walis test.

My |99 |120| 87 | 50 [90

M, | 83 [112 126 | 133 | 96
My (109 | 125 | 152 | 135 | —

OR

4 Explain :

@)

(i1)

Run test
Man-Whitney ‘U test

(111) Wilcoxon test.
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